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Name Date

Grace and Jerome had to solve this problem:

There were 9 children playing on the swings in the park. Later,
4 more children joined them. How many children were on the
swings altogether?

1. Grace solved the problem using a number line to count on. Write
or show how she used a number line to solve the problem.

2. Jerome solved the problem by using a ten frame. Write or show
how he solved the problem.

3. Think of another strategy for solving the problem. Write or show
how you solved the problem.

Number sentence
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